1. Way of assembly with side support

Side support

View B

View A

Bill of Material 1
No. Plan Article Quantity
1 XP00366 2990331 2
2 XP01560 2993561 4
3 X003036 1997486 2
4 M6 DIN985 2994063 2
5 M6x50 2994965 2
6 B58 1992267 1
7 D6,4 DIN125 2994414 2
Bill of Material 2
No. Plan Article Quantity
1 XP00366 2990331 2
2 XP01560 2993561 4
3 M6 DIN985 2994063 2
4 M6x45 2994086 2
5 B58 1992267 1
6 D6,4 DIN125 2994414 2
Plan No.
B58 FOR TRIGO 1/2| E00035434/A.1
Scale: 1:8 Drafted Verified Confirmed
Date 2022-08-10 10/08/2022 10/08/2022 MY
Initials AZ AS AZ Q00




3. Way of assembly with side support

Side support

4. Way of assembly without side support

View D

Bill of Material 3
No. Plan Article Quantity
1 XP00336 2990331 2
2 XP01560 2993561 2
3 X003036 1997486 2
4 M6x16 2994067 2
5 B58 1992267 1
Bill of Material 4
No. Plan Article Quantity
1 XP00366 2990331 2
2 XP01560 2993561 2
3 M6x16 2994067 2
4 B58 1992267 1
Plan No.
B58 FOR TRIGO 2/2| E00035434/A.1
Scale: 1:8 Drafted Verified Confirmed
Date 2022-08-10 10/08/2022 10/08/2022 A
Initials AZ AS AZ Q00




